Employability Skill / TSI Sierer

ITI 15t Year, Common For All Trade
Module: Productivity (English/ f&€l)

1 During using ATM, Authentication is provided
by customer by entering................

TETH & 3UINET &Hlel & GRIeA, ATgeh GaNT ...
&ol dieh JHTUNRIOT Yeled fohdm ST B
A cash er

B IFSC 3TSuwuadr
C PIN e

D KYC aharsdr

2 Expansion of ATM is........

A Asynchronous Teller Machine TR Cek
AT

B Automated Teller Machine Uciaics ok AL
C Automated Time Machine Tciacs e HfiaT
D Autonomous Time Machine 3EIAIHE TS
2T

A job security iRl T F&m

B political stability IrsTeiticier TEURAT

C decrease in GDP per capita 9fd safed dehel
B 3cute H AT

D increase in GDP per capita 9fd =afdd @l
e 3w # 9

4 Production is defined as a ratio of ...
3CUTET T ... & U & & H qRATT fovar
I E

A output / input 3T3¢Yc / $eTqC

B input / output $eT9C / 3T3CYC

C output / skill of workmanship 3T3eqe / HRTRT
T hiereT

Solutions and Explanation on
YouTube Channel

D input / skill of workmanship $eqc / HRITRT T
hierer

5 Productivity is defined as the ratio of ..
3CAIGHAT Fl ... & 3UTd & &9 H aRenfya
forar = §

A output / input 3T3cYC / $A9C

B input / output $9C / 3T3¢YC

C output / skill of workmanship 3T3eqe / HRITY
T pIAT

D input / skill of workmanship $eiqe / HRITT T
Hierer

6 The expansion of ATM is ................

TATH &# AEN ... :

A Automated Tune Machine TeiAes el HalieT

B Automated Teller Machine Teiaes cok LM
C Asynchronous Teller Machine Tf@RH o

EIE

D Asynchronous Time Machine 3CIAHT TBH

I

7 the process used by a business to verify the
identity of their client is......

Teh ST EaRT 3 AMgh T Ugalel Tcaad
HA & forw 39T dr S arelr gfhar g

A GDP 3iSrdr

B KYC sharsdr

C ATM twértH

D TFP <ruwhdy

Ans Key 1-C, 2-B, 3-C, 4-A, 5-A, 6-B, 7-B,

Open Mind Guruji
For More Updates


https://www.youtube.com/channel/UCn_aj5_jQMljFkinDY4nt8g
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8 What is the advantage of automation?
TadTeleT T FAT TH g7

A Reduced operation time &# 3R TFT
B High initial cost 3Td URfAe &

C Unpredictable development cost 3T9caTfRIa
ICEIRRCIEIG]

D Security threats gI&il @l

9 What is the unemployment rate if there are
125 million people in the labor force, 100 million
people employed and 25 million are not?

afe ##7 gof 7 125 Afezsr & §, 100 fAferzs
T FRRA § 3R 25 fAfegs 78 § ar SRisemr
&l T 82

A 25%

B 20%

C 17%

D 15%

10 Which market determines the real wages and
employment?

Fie AT TR TS Aoyl 3R Asem fFeiRa
AT 872

A Capital market Gait STelR

B Labour market #H dGIR

C Money market Hail Hhe

D Goods market HTel dGIR

11 Which one is used to measure the economic
performance of a whole country or region?

W A AT AT F IF yede & A & v
forgerT 39T T Srar 87

A KYC harsdr

B GDP SiiErdy

C TFP &ruwmdr

D ATM TwditH

Solutions and Explanation on
YouTube Channel

12 Which one of the following is NOT a
category of pure risk?

fFrfafea & @ &l g SifEs $r Jofr 787 g2
A Property risk Tqfcad SNi@H

B Technology risk Sleaifarhr shf@a

C Liability risk ¢zrar sif&er

D Personnel risk FIfds S@H

13 Which one of the following is NOT an
objective of incentive?

fArafaf@a & @ Sla a1 Wicag &1 327 =gl 87
A Improved quality S&dX J[OTdccT

B High cost of production 3cdige $I 3T ETd
C High output 3= 3T3¢Yc

D Reduced waste &# 3Gfrse

14 Which one of these documents is NOT
acceptable for fulfilment of KYC norms?
$IH H el T GEATAS Hargd! AlIGs! I QT
e & foIT TR o6l 872

A Voter ID card dlex 37TS3r FI5

B Ration card el &1

C Residential certificate 3T JATOT 97

D Income certificate 3T JHATOT 9T

15 Which stage is a period of rapid revenue
growth?

it dr AT i Torea ghg @ 3afer g2

A Growth stage Iy TSl

B Maturity stage 9Rderadr aRoT

C Decline stage fRrae @roT

D Introduction stage 9T TROT

Ans Key 8-A, 9-B, 10-B, 11-B, 12-B, 13-B, 14-D, 15-A,

Open Mind Guruji
For More Updates


https://www.youtube.com/channel/UCn_aj5_jQMljFkinDY4nt8g

